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1. Answer the following questions :

1x9=9
ol AR T Ty
N 2P T Wy -
(@) Give a Sanskrit equivalent of the word ‘Iitam:’,
TR SR 1 R 2o ol
TRAT = Gah A fox = WS |
(b) Disjoin the word ‘Fafygwa’.
‘AT *h) Wi Ry =411
FATTRT *1ifbq i frs w |
c) Who is a bad owner according to the lesson ‘TENFgERT ?
TENFFHAT A 254 TS @ SR @ 0
TRAFFHAT AR 13 s 7l A ¢ 0
(d)

How many Chapters are there in the CATRTE T 2

RIECCUCEUIRIRCRe 2l Ui
HAHIALIAT to = S =y 2
(e) AT R R S )
Who is referred to as ‘R here?
S A I 3 T oo
Q4 ‘A TS I CIMHICT 2= 9
(f R4 was the son of T
Write ‘yes’ or ‘no’,
SIS (I 2T e |
o’ (1 T
I (IR [ fomy
g1 B A @
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(9)  Write the opposite word of ‘ﬁ‘f"T:’.
14 RoRre »rer forel |
TIOT3 Refire 7 et |

(h) Who is the friend in abroad?

()  Who is the author of the book, ‘ST’
ST stpepr@ @4 @2
ARG arefln v (B

2. YU g g
What is meant by ‘@7 49’ here? ﬁ
S TS 4" e ¥ e (xR 2. )

QY e 45’ o0 Pl (@G ZETR 2

3. Why did the leader of the monkeys want to go to the forest
from the king’s palace?

IR FErelfer AGAPTMA #[1 50 9eeT ¢fo I e 2

TR oIS TELPI (ACF (1 0T (TS (OTReT 7

4, gyl 7 fRAfT e

A

Who is the speaker here? Who is referred to as ‘gET’ here? 2.‘

s 3@ (P ? TC TE I IR Jowm L 2
QR AT (@ 7 90 T TS 0P QR Z0H0R 2

Blogx (£)/33A [ Contd. -



(4 )
S. Write the names of any
Madhava Sharma.

To T MG M 0T 6 TR I 4 2w A B
Bo T AR W O T @ A GO 20wq T e |

two books written by Dr. Mukunda ,
2)

6. Derive the following words : i 2‘:.
OO XETCARY Pooifs fRefy 37
oA 1o peeifis Fief e - ' |

EERS ; aTl‘éﬁ'cL; ] ; WA
Translate the following passages (from Q. No. 7 to Q. No. 10) :
O SCRACIED S G (2 TR 7 9 ) 20 e 10 )
MBS SRR S AN (2 TR 7 (AT e T 10 o)

7. TR SR o < | T i i e s
Y T [AIE T, FITETEE S |

Or / A%t /<ieqy

TYFANE SHR FaH | a0 T ST e RO YT FaTRrTeeT T
R TAFR | T T | A

8. T3g aRTTTEATH Tl 31 TR FraRe sreedly a0 | A 20T T 300
s Or / 7%l /=4y
T FETHRAT HG JUTR] FA G T & ol o 7 QR 7.
EAREIRE IS GHR E T EFvTFﬁ‘IE‘aIHI

9. S TR HITIRT: SARAITR I | Yoo, emrfver: a3 27 S4ofiang

4x4=16

qmﬁmﬁﬁ%ﬁwa@n

| Or /%1 /5ot
| ORI ooty ywwer aRRTI @
ReFTEAIeR SO Fom v orfer)
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10. TET=RK FeadSoMeegd Hawd Rigweemd Ed TTE TrnReT
FIad! | FAT ATy @ 9T §: TS 1T 0 @hEt yio yeziig
BERISEEGT

Or / M2 /941

APETH AT ey sPoea ¥ fRATE) 9y ‘gferg-soream

ST -STTEATY!,  ‘afoweT —3dEd: T SgET: | Wﬂﬁrm
Fitas WA T Sy R |

L1. Explain the followmg verses with reference to the context : ;
Sx2= lO

PTG (TR ©F CHRIRBT 140 T
oS (RICH Nobd CIRS AT I -

(@) TIE: HENG FAF THRT =64: |
=T & AT Seqgs ﬁlﬂ“{cj\_l! _

Or /7R /\%q

ST el A W e
foram et ST Ffeat |

FETSTTT T FFAI R o )
Or/m/ﬁwﬁ_f

0 e FATGR it

7 7 A T B 3 R |
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12. Elucidate the idea of the following :
ToTe (ICARE SI9 923 B

Ci4) CreY1LEg U9 f&@o\:lm (0 T | I

. 4x2=8

(@) F: THER SATRT agadl O |

13. Answer the following questions : | , - 4x3=12
THE ZPCAEa Ted o
o 2pRTeTE T8 @A

(@ Present a note on ‘4HQFEGMET.
ATy fam ot Gre fd |
HQTETAT v =i S e |

(b) Answer the following questions in Sanskrit :
oA 2PEARE T E e |
P ISR BeF Hevgars (o -
(i) @A R R R
(i) “Eﬂﬁ!qﬁ@?=ﬁfﬂﬁ&ft_~aq‘guﬁtiﬁ?T$=ﬂ“ﬁ?
(iii) RIS 7 Tl

(iv) ¥ FT T T s
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14, (a)

®)

( 7))

T Fifemrrg s wAFE

Elucidate the idea of the statement,

AP Wy iy B |
TR e Rrgwora el |

Account for the case-endings in any two of the following :

o R e o Rl Fef o
%mmiﬁaw—ﬁ@i@ﬁdﬂm:

T in Q. No. 7

[ 7 R opys |

[ 7 R et |

94’ in Q. No. 8

[ 87 2o | |

[ 8 7R 249 ]

F#E&3 in Q. No. 10 Or
[ 10 7R 1397 2757 | |
[ 10 =13 S734T 230S |

‘etfe:’ in Q. No. 11(@) Or
[11 7R (o) TRAT ]
[ 11 7] (a) ST 250 |

Derive any two of the following :

o R e o et e 9

v @ e qioa groife Mo e
‘Fe9@’ in Q. No. 7 Or

[ 7 7R 2T 2 |

[ 7 ¥1% AT 24T |
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15. ()

‘Iufgr’ in Q. No..9 Or .

[ 9 R 7T 2P |

[ 9 R ST 24T |

@ in Q. No. 11(q)

[ 11 %R (@) o |

[ 11 7R (@) 2MCS | .
‘71’ in Q. No. 11(b) Or

[ 11 %% (b) 723 2%f® |

[ 11 7 (b) 94T 2 |

Decline any two of the following :

TR [ @I qoIR X ferd
Fevd O IR o X Al :
‘g’ in fedAT dual

[ o fasfes fBavo |

[ et faefes e |

‘@l in AT singular

[ T [efeq qaapae |

[ Tom Refen «zani |

‘T in ¥EHT plural

[ R i Tzq0me |

[ AT Rrefes qgane |

‘@g’ (3) in B singular
[ =9 [efeq qaapers |
[~ Refeq aFane |
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(b) - Conjugate any two of the following 1%2x2=3
. Wﬁ@fﬂf‘iﬁr{ qroel fordt -

AT e CFI giow qre=iet e :

ECE Ea\q"q\

[+ Rsfeaapy ).

[ e frofen <o

windeR

[ T ReRer & )

[ % Rsfe 7y )

VIR in 92 wfy

[ % Rt |

VI in @€ f1,

[?ﬁﬁ@@ﬁ]

[ =15 Refe ]
(¢) Name and expound any two of the followmg .: 2x2=—.4

worq R WWW%@WWW :

o @ I O TP B o T -

quIfafy ; ’mTW ?ﬁf-ﬁm ﬁ'@ﬁﬂ' e

(d) Change the voice in ““y one of the foliéWlng - cpath: 2 .
Se5q (1 @I R 3 qﬁﬁ —_—
() T34 fefal |
(if) ¥ AT
R Lakastl
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(e) Define and illustrate ‘SIHTT HRH". (12+1=3
S0 IS e e et fE |
iR PR -] I G THIZA W1 |

Or / &3 /=l

Give examples, in suitable sentences, of "'&ﬁj“t'wo of the
following : : AR cale 1%x2=3
ol TS Wold [ Il Yo SwrEae -
T 1 RovA (G| YR S S ¢

(i) sitr-F-fges

(ii) FETREAEOT
(iii) T T

(iv) T T T TESHOT

() Give the resultant forms of any two of "Eﬁé:;ff0110wing :

Ak S i 1 x2=2
e B el PR Foem o s

A @ Il o 0w we @
(i) N+ PR+
(i) NFL + P + e fa
(i) I+ & + w2 fy
(iv) T+ ¥ + v fy

.16. Translate into Sanskrit any four of the followiflg sentences :

2/ex4=10
oo R BNG! R St

AT @ T TR T e

. SR P

(a) There is a beautiful garden around the school
RO SR gum T iy '
R SR aofy AR can— :
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(b)

(c)

(@)

(e)

(11 )

There wag 5 poet named Kalidasa.

WWQ@?‘%WI
T A e TR oo |

What's your name? Where do you live?
(ORI R 2 o 37 797 7412

COTTI A 2 S praim < a1 2

The two girls will go to Delhi tomorrow.

CRITEN & pRge fidite T |
(I Y& et &l e |

The students want to ask questions to the teacher.

RETRCA e 2p fEats T ez |
RGTICE] e N2 o e F9ce TR oM IR |

You should not waste time idly.
(OGS SILE ST 2 A |

O S T 8 T |

o ¥ ke
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